Lecture Notes for Theory of Linear Models

(Ch2in Rencher et al.)

- Review of Matrix Algebra
- Generalized Inverse

Longhai Li

Department of Mathematics and Statistics University of Saskatchewan

Review of Matrix Theory. Eigenvalues & Ergan Vector $AX = \lambda X$, $AX - \lambda I_n X = 0$ hxn - eiger value λ eigon Vector. R = 0, a polynomial of) 1 - AIn R. SVD(A) will your λ I A Singular value de composition.

Spectral Decomposition for Symmetric Matrices

A is a symmetric matrix: (ail light values and real) nxn 0 N2. 4n = (&, &2, ---(R.,...,2) 112:112=1 Gi (\$) 18; Q= (Bi, ..., En) is an orthogonal Matrix, $Q'Q = Q \cdot Q' = T_n$ ŧ

AREQ $Q' \chi$ B, X n & 1 M =Q-1/2 8 XX 2= q2 Q 9 G, Rf Votation ratate 7/2 back ** X Х \mathcal{D}_{I}

Some facts about sym. matrices tr(AB)=tr(BA $(A) = \sum \lambda_i, |A| = (i\lambda_i, tr(A) = \sum q_i)$ $(A) = tr(\lambda_0' q) = tr(\Lambda), = (i\lambda_i, tr(A) = \sum q_i)$ $is singular if \exists \lambda_i = 0$ V+ 0 tr(QA 2໌ $= Q^{(\lambda_{1}^{+}, 0)}Q$ n; 70 for all i if 3 $(\begin{array}{ccc} \overline{\Lambda}_{n} & \overline{-} & 0 \\ 0 & \overline{-} & \overline{\Lambda}_{n} \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} \\ (\begin{array}{ccc} 0 & A \end{array}) \cdot Q', if \overline{-} & \overline{-} &$ 20 turali Q. 4 (ځ nn of symmetrife nx) Z Riqij Bj (74,---,754 isj Quadr d $\gamma' \cdot Q \cdot (\frac{\lambda_1}{2}, \frac{\lambda_2}{2}) \cdot Q$ alone Rig 2.

Projection Matrix
(1)
$$P = P'$$

(2) $P^{2} = P => \lambda i = 0 \text{ or } 1$
 $P = Q \cdot (Ir) = 0 + Q' = \sum_{i=1}^{n} g_{i} g_{i}'$
Since dimensions are trascaled to $0 \text{ if } \lambda i = 0$
of exchange if $\lambda i = 1$
Why $\lambda i = 0$ vs 1. "
 $x \in c(P)$, $P\pi = x = 1 \cdot x$
 $x \perp C(P)$, $P\pi = 0 \cdot x$
Another prime :
 $P^{\pi} = \lambda x$, $P^{2} = P$
 $=> P^{\pi} = \lambda P\pi = \Lambda^{3} x$ $\zeta => \Lambda^{2} = \lambda \pi$, $i\pi \neq 0$
 $P^{2} = Px = \lambda \pi$ $=> \Lambda^{2} = \lambda = 0/1$

Example



Positive Definite (p.d.) and Positive semi-definite (p.s.d) Matrices

Examples:



$$\mathbf{A} = \begin{pmatrix} 2 & -1 \\ -1 & 3 \end{pmatrix}$$

is positive definite.

Q: Why?

A: Because the associated quadratic form is

$$\mathbf{x}^{T}\mathbf{A}\mathbf{x} = \begin{pmatrix} x_{1} & x_{2} \end{pmatrix} \begin{pmatrix} 2 & -1 \\ -1 & 3 \end{pmatrix} \begin{pmatrix} x_{1} \\ x_{2} \end{pmatrix}$$
$$= 2x_{1}^{2} - 2x_{1}x_{2} + 3x_{2}^{2} = 2(x_{1} - \frac{1}{2}x_{2})^{2} + \frac{5}{2}x_{2}^{2},$$

2)

The matrix

$$\mathbf{B} = \begin{pmatrix} 13 & -2 & -3\\ -2 & 10 & -6\\ -3 & -6 & 5 \end{pmatrix}$$

is positive semidefinite because its associated quadratic form is

$$\mathbf{x}^T \mathbf{B} \mathbf{x} = (2x_1 - x_2)^2 + (3x_1 - x_3)^2 + (3x_2 - 2x_3)^2,$$

which is always non-negative, but does equal 0 for $\mathbf{x} = (1, 2, 3)^T$ (or any multiple of $(1, 2, 3)^T$).

Some facts about P.d. O P.S.d. Let A=(Qij)nxn 1) A is p.d. => Qii > O A is p.s.d. => Qii 7,0 $\frac{Pf: bf n = (0, ..., 0, 1, 0, ..., 0)', n'An = Aii}{f}$ 2) A is p.d. (A) $\lambda_i > 0$ (SVD(A)) A is p.s.d. (A) $\lambda_i > 0$ $P^{\dagger}: A = Q'(\Lambda' \cap \Lambda_n)Q', When Q = (Z_1, \dots, Z_n)$ $\chi' A \chi = \sum_{i=1}^{n} \lambda_i (g_i \chi)^2 = \sum_{i=1}^{n} \lambda_i \cdot g_i^2$ alos y=Q'X, XAX = y2 - y2 isn't alwary 70

3) Let B: nxp matrix a) if rank(B) = p, then B'B is p.d. pxp b) if Youk (B) < P, then B'B is P.s.d. pt: rank (B)=P, then BX = 0 + X=D 50 71 BBB = 11 BB1 2 > 0 If Yank (B) < P. them BX may be O for some x70. But we always have $\chi' A \chi = (1 B \chi (1^2 3 O))$ 4) A is p.d. => A dexists. (non-singular. 3) A is p.d. => A- is p.d. $A = Q(\Lambda_{n_{e}})Q', A^{-1} = Q(\Lambda_{n_{e}})Q', A^{-1} = Q(\Lambda_{n_{e}})Q'$

Cholesky Decomposition

IFA is p.d. . IBS.t. A=B'B where B is an upper triangle matrix the factorization is unique. b11 0 ··· 0 >b12 b22 ··· 0 (bu O 612 Dna $\begin{pmatrix} a_{i1} & \cdots & a_{in} \\ \vdots & \vdots \\ & \vdots \end{pmatrix} = 4$ = an => bn = Jan die >0 $b_{ii} = a_{ij} = - a_{ij}$ $b_{1i} \cdot b_{ij} = a_{ij} = - b_{1j} = - \frac{a_{ij}}{b_{1i}}$ $- b_{1i} - (a_{22} - b_{12})$ Why Cholesky? B' can be obtained easily.

Singular Value de composition
X: MXP, 2019 pre Yaula(X) = r = min(mp)
Then X can be written as:

$$X = (M_{1}, \dots, M_{r}) \begin{pmatrix} A_{1} & 0 & \dots & 0 \\ 0 & A_{2} & \dots & 0 \end{pmatrix} \begin{pmatrix} U_{1} \\ \vdots \\ 0 & \dots & A_{r} \end{pmatrix} \begin{pmatrix} A_{1} & 0 & \dots & 0 \\ 0 & A_{2} & \dots & 0 \end{pmatrix} \begin{pmatrix} U_{1} \\ \vdots \\ U_{1} \end{pmatrix} \\
= \begin{pmatrix} D_{1} & (A_{1} & 0 & \dots & 0) \\ (A_{r} & P_{r}) & (U_{r} & V \\ 0 & \dots & A_{r}) \begin{pmatrix} U_{1} \\ U_{1} \end{pmatrix} \\
= \begin{pmatrix} D_{1} & (A_{1} & 0 & \dots & 0) \\ (A_{r} & P_{r}) & (U_{r} & V \\ 0 & \dots & A_{r}) \begin{pmatrix} U_{1} \\ U_{1} \end{pmatrix} \\
= \begin{pmatrix} D_{1} & (A_{1} & 0 & \dots & 0) \\ (A_{r} & P_{r}) & (U_{r} & V \\ V & V \end{pmatrix} \\
= \begin{pmatrix} A_{1} & 0 & \dots & V \\ U_{r} & U_{r} \end{pmatrix} \\
= \begin{pmatrix} A_{1} & 0 & \dots & 0 \\ 0 & \dots & A_{r} \end{pmatrix} = diag(A_{r}, \dots, M_{n}) \\
= (M_{1}, \dots, M_{r}, M_{rm}, \dots, M_{n}) \\
= (M_{1}, \dots, M_{r}, M_{rm}, \dots, M_{n}) \\
= (M_{1}, M_{2}) \\
V & = (V_{1}, M_{2}) \\
V & = (M_{1}, M_{2}) \\
= (M_{1}, M_{2}) \\
\end{bmatrix}$$

Generalized Inverses

Motivati un 2 (R -7 invertible X1, X2 Χ H CIR2 H X 7 ¥ B1 B2 [K1, K2 r χ. T g) = 4 B= YF(R² ail y EIR² BEIR

12 1R² 6 $\chi_i \in \mathbb{R}^2$ $\chi = [\eta_1, \eta_2, \eta_3]$ XB=Y doesn't have a unique sol. y e R² BEIRS B=X y should be a solution to $X\beta = \gamma$, for $\gamma \in c(X)$

What X should be $X = [\Lambda_1, \dots, \Lambda_p]$ Support X. (x-xj) = xj for each Xj B=X Rj shold be a solution to X B= Rj then XX y = y, for each ytc(X) Writing (*) in matrix form: $\chi \cdot \chi^{-} \cdot [\pi_1, \dots, \pi_p] = [\pi_1, \dots, \pi_p]$ X-X-X =

Generalized Inderse (Def): be an nxp matrix. X- is a matrix Let X pxn and satisfies (X.X⁻X of generalized inverse of i۶ (alle a version of



$$\begin{aligned} & \text{Example I:} \\ & \text{X=} \begin{pmatrix} 1 & 1 & 1 & 1 & 1 \\ 1 & 1 & 2 & 1 & 3 \end{pmatrix} \\ & \text{X=} \begin{pmatrix} 1 & 1 & 2 & 1 & 3 \\ 0 & 1 & 1 & 2 & 3 \\ 0 & 1 & 1 & 2 & 3 \\ 1 & 3 & 2 & 4 \end{pmatrix} \\ & \text{X=} \begin{pmatrix} 2 & 2 & 3 \\ 1 & 3 & 1 \\ 3 & 2 & 4 \end{pmatrix} \\ & \text{X=} \begin{pmatrix} 0 & 1 & 0 \\ 1 & 2 & -1 & 0 \\ 0 & 0 & 0 \end{pmatrix}, \quad \text{A}_{2}^{-} = \begin{pmatrix} 0 & 1 & 0 \\ 0 & \frac{3}{2} & \frac{1}{2} \\ 0 & 0 & 0 \end{pmatrix} \end{aligned}$$

A Version of X- $\begin{pmatrix} R_{II} & R_{I2} \\ R_{2I} & R_{22} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{2I} & R_{22} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_{II} & R_{I2} \\ R_{II} & R_{I2} \end{pmatrix} = \begin{pmatrix} R_$ χ= $\chi^{-} = \begin{pmatrix} R_{11} & O_{21} \\ O_{12} & O_{22} \end{pmatrix}$ $shape(\partial_{12}) = shape(R_{12})$ $shap(\partial_{21}) = shape(R_{21})$ $shap(\partial_{22}) = shape(R_{22})$ matrico Or, Orz and all $\chi \cdot \chi^{-} \chi = \begin{pmatrix} I \cdot O \\ R_{1} \cdot D \end{pmatrix} \cdot \begin{pmatrix} R_{11} \cdot R_{12} \\ R_{21} \cdot R_{22} \end{pmatrix}$ $= \begin{pmatrix} R_{11} & R_{12} \\ R_{21} & R_{22} \end{pmatrix} = X$ being singular implies that Note: χ 22 - R21 Rit R12 = 0

A Procedure to Find A Version of Generalized Inverse

- 1. Find any nonsingular $r \times r$ submatrix **C**. It is not necessary that the elements of **C** occupy adjacent rows and columns in **A**.
- 2. Find \mathbf{C}^{-1} and $(\mathbf{C}^{-1})'$.
- 3. Replace the elements of **C** by the elements of $(\mathbf{C}^{-1})'$.
- 4. Replace all other elements in A by zeros.
- 5. Transpose the resulting matrix.

 $\begin{pmatrix} \times & \swarrow & \times & \bigstar \\ \times & \bigstar & \times & \bigstar \\ \times & \times & \times & \checkmark \\ \times & \times & \times & \times \end{pmatrix}$ $\bigotimes : (c^{-'})'$ $\begin{pmatrix} \mathbf{X} & \mathbf{X} & \mathbf{X} \\ \mathbf{X} & \mathbf{X} & \mathbf{X} \\ \mathbf{X} & \mathbf{X} & \mathbf{X} \\ \mathbf{X} & \mathbf{X} & \mathbf{X} \end{pmatrix}$

Laverse lenrose Norre 012 5 0 O22 PXP h; Λ qil \mathcal{O}_{2} W ase 10 С 10

Theorem: C) is a solution to XBZC, if it is consistent. c C(X), that is Sund is consistent X= (M1, N2, N3) 2 XBEC(X) ŋ/ Yank ([X, c]) = Yank (X) $C \in (\pi_1, \pi_2, \pi_3)$ Grivenc, guppoe Xb=C, i.e., b is a solution. Let X be a version of gon. inv. of X. $) \times b = (X \cdot X') \leq$ $x x^{-} X b \simeq x (x^{-} c)$ X. (X-C), Sino XXX=X 2 X. (x-c), Since Xb=c C That is b=XC is a solution of XP=C

Example 1: $\chi = (1, 2, 3)$ XB=4 To Soly RN B35 (1,2,3)= 4 $X^{-} = \begin{pmatrix} X \\ \circ \end{pmatrix}, \quad P = X \cdot 4 = \begin{pmatrix} 1 \\ \circ \end{pmatrix}, \quad 4 = \begin{pmatrix} 4 \\ \circ \\ \circ \end{pmatrix}$ (1) $\begin{pmatrix} 0\\2\\0 \end{pmatrix}$ (2) $\chi = \begin{pmatrix} 0 \\ \frac{1}{2} \end{pmatrix}, \beta = \chi 4 = \begin{pmatrix} 0 \\ \frac{1}{2} \end{pmatrix}, 4 =$ 0000 (3) $\chi = \begin{pmatrix} 0 \\ 0 \\ \pm \end{pmatrix}, \beta = \chi \cdot 4 = \begin{pmatrix} 0 \\ 0 \\ \frac{1}{2} \end{pmatrix} \cdot 4$ ~ Example 2: $\begin{pmatrix} 2\\ 2\\ \zeta \end{pmatrix}$ $\chi\beta = \begin{pmatrix} 4\\6 \end{pmatrix} = c$ X= [7 B=XC $(D, \chi = (I), 0, 0),$ $(2) X = (0, \frac{1}{2}, 0),$ X C = 7= (3) $\chi = (0, 0, \frac{1}{2}),$

Thm : B = Ч Solution to ι's a (**X'X**) X' ¥ B Ξ. $\chi \cdot (\chi' x)^{-1} \chi' \mathcal{M}$ Thum: *is* $(\chi'\chi)$ ХY the projection Ŋ 7 XXB=X4 onto C(X). y-xß)=0 B=(x'x) x'4 Pf: golution to ١s the normal A X [] equation XXB = XY $\hat{\chi} = \chi \hat{\beta} = \chi \cdot (\chi'\chi)^{-1}$ χ÷ 15 into ((X) Since 19ry petion is the proj unique. The next pages give a direct proof.

version ٢ a ς Ø X Somotiones we unite \int

Theorem: For any version (X'X), $(\chi (\chi' \chi)^{-} \chi') \chi = \chi$) transpose $X' \times (X' X)^{-} X' = X$ Pf1: Using projection -X' is the proj matrix onto cl $P_{X} = \chi (\chi' \chi)$ $X = [\pi_1, \dots, \pi_p], \quad [x \pi_j] = \pi_j$ $P_{X} [\pi_{1}, \cdots, \pi_{p}] = f \pi_{1}, \cdots, \pi_{p}]$ 50 $P_X \cdot X = X$ That is

Pf 2: Using direct matrix manipulation Y YEIR, Y=XB+C, where XB = proj(Y|C(X)) and $C \perp C(X)$ = $\chi' \chi \beta$ = $\chi' \gamma => \chi' \chi (\chi' \chi) - \chi' = \chi'$ Note: XY=O J YEIRPEDX=0 $X = [\chi_1, \dots, \chi_p]$ $[1,0,\cdots,0], X_{1}=0$

Thus: Let
$$P = X \cdot (X'X) \cdot X'$$

(1) $P = P' (2) P^2 - P (idempotent)$
(3) $P' is invariant to (X'X)^-$
Pt:
(1) $P' = X \cdot (X'X) \cdot X' = P$
Note: $(X')^- (X') \cdot X (XX) \cdot X' (x')^- (x$

An Explicit Formula of Projection onto Non-full-rank Subspace

(Optional at the moment)

GI in Least Square with rank < p(RI, (R2), Ri exists, k < p. (INP) NXR RXR RX(PR) UP assume the first Ricol. of X X'X = $\begin{bmatrix} R_i \\ R_2 \end{bmatrix} \cdot \begin{bmatrix} V & Q & (RI, R_2) \\ 0 & (RI, R_2) \end{bmatrix} \cdot \begin{bmatrix} R_i \\ Q & (R$ $\chi' \times \beta = \chi' y \in [\chi' y \in C(\chi') = c(\chi' \chi)]$ 6t $= \left[\begin{pmatrix} R, R \\ R \end{pmatrix}^{-1} & O \\ R \end{pmatrix} \right] \left[\begin{pmatrix} R, R \\ R \end{pmatrix}^{-1} \\ R \end{pmatrix} \right]$ $(R_{i}R_{i})$ R_{i} Q'Y= R['a'y' = 0 $= Q [R_1, R_2] \cdot \hat{\beta} = Q \cdot R_1 (R_1'R_1)^2$ $= Q \cdot Q' \cdot Y$ $= X\hat{\beta}$ ·ĥ

Another way to understand: $Y = Q(R_1, R_2)\beta + E$ $\begin{array}{ccc} (et \ b = (R_1, R_2) \begin{pmatrix} \beta_1 \\ \beta_2 \end{pmatrix} \frac{\beta_k}{\beta_2} & \widehat{b} - \frac{\beta_k}{\beta_2} \\ k & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & & & \\ & \\ & & \\$ $= R_1 \beta_1 + R_2 \beta_2$ 06+8 = a' y = (a' a) a' y, y' = a a' yThen we find B S.t. $(R_1, R_2) \begin{pmatrix} \beta_1 \\ \beta_2 \end{pmatrix} = \hat{b} = \omega' y$ Sol2: Using R Sol 1: We will set \$=0, and solve $R_1 R_1 = Q' Y = \sum_{i=1}^{n} R_i^{-1} Q' Y R^{-1} = R_1^{-1} Q' Y R^{-1}$ $\frac{1}{100}\hat{\beta} = \begin{bmatrix} R_i & Q' \\ Q \end{bmatrix}$ β_ = R - Q'Y R, 0'9 The B is the same as using (X'x) in solving X'XB=X'y